

SNS COLLEGE OF TECHNOLOGY



(An Autonomous Institution) Coimbatore 35

DEPARTMENT OF MATHEMATICS

UNIT-IV CORRELATION AND SPECTRAL DENSITIES

Wrence - Khintchine Thousans IT X 1000 Se the FT of the tourseded landom peocess is defined as $X_{\Gamma}(\pm) = \begin{cases} X(\pm) & \text{for } H \mid \leq T \\ 0 & \text{for } |H| > T \end{cases}$ power frectral densety function $g_{xx}(w)$, then Sxx(w) = 14 [= E [1xx(w)|2]

P9100-F "

Priori:

Criver
$$X_{T}(\omega)$$
 is the fourier transfer of $X_{T}(t)$

$$\Rightarrow X_{T}(\omega) = \int_{-\infty}^{\infty} X_{T}(t) e^{-i\omega t} dt$$

$$= \int_{-\infty}^{T} x(t) e^{-i\omega t} dt$$

Now.
$$|x_{+}(\omega)|^{2} = |x_{+}(\omega)|^{2} |x_{+}(\omega)| \cdots |x_{+}(\omega)|^{2} = |x_{-}(\omega)|^{2} = |x_{-$$

$$= \int_{-T}^{T} x(t_i) e^{-i\omega t_i} dt_i \cdot \int_{-T}^{T} x(t_a) e^{i\omega t_a} dt_a$$

$$= \int_{-T-T}^{T} x(t_1) x(t_2) e^{-i\omega(t_2-t_1)} dt_2 dt_1$$

$$[1x_{T}(\omega)|^{2}] = \int_{-T}^{T} \int_{-T}^{T} E[x(t_{1}) \times (t_{2})] e^{-i\omega(t_{2}-t_{1})} dt_{2}dt_{1}$$



SNS COLLEGE OF TECHNOLOGY



(An Autonomous Institution)
Coimbatore— 35

DEPARTMENT OF MATHEMATICS

UNIT-IV CORRELATION AND SPECTRAL DENSITIES

$$= \int_{-T-T}^{T} R_{XX}(t_1, t_2) e^{-i\omega(t_2-t_1)} dt_2 dt_1 \rightarrow (i)$$

$$= \int_{-T-T}^{T} R_{XX}(t_1-t_2) e^{-i\omega(t_1-t_2)} dt_1 dt_2$$

$$1et t = t_2 \Rightarrow t = t_1-t \Rightarrow t+t=t_1$$

$$dt = dt_2 \qquad dt = dt_1$$

$$E[IX_T(\omega)|^2] = \int_{-T-T}^{T} R_{XX}(t_1-t_2) e^{-i\omega(t_1-t_2)} dt_1 dt_2$$

$$t \text{ vow less from } -T \text{ to } T$$

$$t \text{ vow less from } -T \text{ to } T$$

$$t = -T \Rightarrow t_1-t=-T \Rightarrow t_1=-T+t$$

$$t = T \Rightarrow t_1-t=T \Rightarrow t_1=T+t$$

$$E[IX_T(\omega)|^2] = \int_{-T-T+t}^{T+t} R_{XX}(t_1-t_2) e^{-i\omega(t_1-t_2)} dt$$

$$= \int_{-T-T+t}^{T+t} R_{XX}(t_1-t_2) e^{-i\omega(t_1-t_2)} dT$$



SNS COLLEGE OF TECHNOLOGY



(An Autonomous Institution) Coimbatore-35

DEPARTMENT OF MATHEMATICS

UNIT-IV CORRELATION AND SPECTRAL DENSITIES

$$\frac{1}{T+t} = \frac{1}{2T} \left[\frac{1}{1} \left(\frac{1}{2} \right) \left(\frac{1}{2} \right) \right] = \frac{1}{T+t} = \frac{1}{T+t} \left(\frac{1}{2} \right) = \frac{1}{T+t} = \frac{1}{2} \left(\frac{1}{2} \right) = \frac{1}{2}$$

$$= \int_{-\infty}^{\infty} R_{xx} (t_1 - t_2) e^{-i\omega(t_1 - t_2)} dt$$

$$= \int_{-\infty}^{\infty} R_{xx} (t_1) e^{-i\omega t} dt$$

$$= S_{xx} (\omega)$$
Hence proved